hEREFRINRAEBROBIE (R6.3.3162)

AREL TERASAHENZIRIC. TREEEDOMRRINRZIEE I B8 T, BH6EFIARDINRZHR/ELIZENT
ED

1 TREERZKTEOHRE

SH6EF 3AKIAE. m RREFFRRNTDHER
B R54MHEIF T2652E. 300 1000000
HMEE893,974m. HMXBEE18 000X BN —e—o—o—o—3 800000 4
HREENEERSN TS, Lo v 600000
100 400000 E
« FRRORNNN ~°
0 0
22 29 30 % 2 3 4 5
TR R R R e 4 E 2 E R
R EE EEFAAR
—o— {ATETE
#1 FEITREERMFIKR
mEERE 28 29 30 5t 2 3 4 5 [nREEE] mEmw | B0k |RENES
iR & Hiti& HigE =
EE 238 238 242 244 247 252 102 265 11 87 5 162
@ (n) | 873,202 | 872,262 | 875:852 | 877,201 | 874.900 | 896,114 | 467,995 | 893,974 | 150,974 | 301595 | 17,064 | 415,341
X1 18,688 18,424 | 18,318 18,101 17,831 18,184 8,249 18,000 1,888 5,757 692 9,663

XDHN4FELRENANDICIIMRESATROEE A,

2 ARG 155 B BER R S (4R TS - R B0

HsBITIE, T, EEteEoSEEERT o ) [
DESENZ <  EEMTREDG0. 8% 300,000 1 R e R o0
KEMCRT 1%E5H TN, g 250000 - | 6000
E 200,000 - L 5,000 %
Eri 150,000 - r 4,000 ﬁ
~ 100,000 - I z'ggg
50,000 - r 1,000
0 -0

FE RBf ME FHR OBE LK R&E =B RE B

=2 HhigAIBAERIRR

TE | ZEf | S EFE M W & =iE ZE iz Bt
BAER TETAT 4 4 9 9 4 3 6 7 4 4 4 54
WERE(m) | 169,195 | 311,906 | 86,949 | 54,288 | 12749 | 7,135| 37,148 | 10,893 | 55519 | 12,337 | 758,119
EE% 52 109 16 5 4 3 6 4 7 2 208
X E 4137| 8564 | 2038 353 316 226 937 193 485 751 | 18,000
= . ‘e = = ==:] *
3 Hhig Bl R ERIR A X DKR Bk 77 =LAl = E 2
110
o N _ P I B E2EERE
ERAADNICK > CTHERESNZERDOEIED 128 I Rtk
REe<. REHTEZAEDN61.1%ZSHTH) g0 | W R AT
B, 70 |
2 ool E R
50 f
ﬁ |=::] -
40 + DREFMAAK
30
20
10 +
0
FE ORBH NE BW OBEE LK B4 BB RXE B2
=3 BFZAXAEEE
Hhig; TE | ZEf | S EFE M W & =RiE ZE iz Bt
TREEZE
el 2 1 2 4 1 1 0 0 0 0 11 4.2%
R (1 ik 12 33 14 1 3 2 8 4 7 87| 32.8%
AR A 1 4 0 0 0 0 0 0 0 0 5 1.9%
EEFALL 37 71 12 4 4 7 8 4 4 11 162|  61.1%
£t 52 109 28 9 8 10 16 8 11 14 265 100.0%




